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1.AB = 4 OIfd, BC = 3 (If¥, CD = 5.5 GIfY, DA = 5
o1fd, 8 BD = 6.5 OIf¥ 2¢T ABCD BQgdt Widid

(GST II |


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ckTAMcHpsbiS

° Watch Video Solution

2. 935 BYGST REST Wid! TIF RE = 6 (Ifd, ES =

4.5 O, ST =5 OIf, TR = 5.5 OIfY 8 ET = 7.5 CIfF
I

° Watch Video Solution

3. 9B MATBIP Aitd! 19 ARG ITFEI ey
5 OTfT 8 8 CIfy 932 B Wiely 10 O1fF |

o Watch Video Solution



https://dl.doubtnut.com/l/_ckTAMcHpsbiS
https://dl.doubtnut.com/l/_QoVLsyBCImJD
https://dl.doubtnut.com/l/_f2XwsfsXrvoA

4. AH6 UG 27 B Ml BUgSIs Wb TR
fBAT, (U LA = 4 OIfF, AN = 5 OIfd, ND = 4

o1fd, DL = 6.5 G 8 AD =10 GIfY |

o Watch Video Solution

5. 930 I99 Wil G Ied Wy 3 oI a3

Bl et 10 o1 |

° Watch Video Solution



https://dl.doubtnut.com/l/_f2XwsfsXrvoA
https://dl.doubtnut.com/l/_jKE74yU7LbC8
https://dl.doubtnut.com/l/_sJiHpUPH34tz
https://dl.doubtnut.com/l/_ScMfwM3PsaCP

6. 936 BYGST GOLD Wt I 7fb B GL = 8
GIfdl @ DO = 10 CIfF 932 ¥ foATb A@ GO = 6
C1fd, OL = 5 G 8 DL = 5.6 CIfY | GD -a9 (m&fy
G @S (T |

o Watch Video Solution

7. 9516 I93 REST WTd! T 16 FF RS = 6.8 T
8 ET=7.2CifF |

° Watch Video Solution



https://dl.doubtnut.com/l/_ScMfwM3PsaCP
https://dl.doubtnut.com/l/_mzJDp9EbCuxj

8. bugSW b6 Jred et 8 fAE 7o dieq
OBge JdB6 @NId Jd Tl | fAME togs
OBl TR fRAT LT | BRETSW AB = 9 I, BC =
6 OIfd, CcD = 7 O3, DA = 8 OIfF a3

/ABC = 60° , ABCD bQ&Tib ®ibId (68T Bl

o Watch Video Solution

9. 936 MABFIPF PQRS Wit A fAfew 7fo
dqe PQ = 6 O 8 QR = 75 OfFy 432


https://dl.doubtnut.com/l/_JzvBK9iuAWaQ
https://dl.doubtnut.com/l/_XndfiuUDH0Kr

/PQR = 45°

o Watch Video Solution

10. 9316 BQEST LAND WIfd! A LA = 6.5 (1Y,
AN = 54 OIfd, ND = 4 OIfg, DL = 3.5 OIfY,

/LAN = 45°

o Watch Video Solution

11. 93 TSRS P! T JfAR© I1@ 76 GA =

7 OIfg 8 AT =5 OIfF 932 /G AT = 45°


https://dl.doubtnut.com/l/_XndfiuUDH0Kr
https://dl.doubtnut.com/l/_Ff6p2V5CSN5G
https://dl.doubtnut.com/l/_9Yx3VCNYTir4

° Watch Video Solution

1. 956 WITOEHa RICH At TT RI = 4 AT

43 Cl=7.5 OIfF |

o Watch Video Solution

2. 9B I Wid! T 93T &I 60° a2

afefb Irod it 6.5 1T |



https://dl.doubtnut.com/l/_9Yx3VCNYTir4
https://dl.doubtnut.com/l/_xZz79YWNRt6E
https://dl.doubtnut.com/l/_DyQR252F5K4k

\ o Watch Video Solution

3. 9%(0 ISGFHa PATH Hitdh! Ti9 a6t Ioa ik

8 (I |

o Watch Video Solution

4. aB6 IfEGFHa Wi 9 9B6 I8d WET 4.4

GIfE |

° Watch Video Solution



https://dl.doubtnut.com/l/_DyQR252F5K4k
https://dl.doubtnut.com/l/_AJcpUDCCmYZf
https://dl.doubtnut.com/l/_Z8v7L1wE45VF
https://dl.doubtnut.com/l/_HghnHvhHTCYQ

5. 936 BugST PLAN &Ifh! FIT PL = 4.6 CIfF, LA
= 5.5 OIfF, AN = 5 Oy 992 /PLA = 60° 3

/LAN = 90° |

o Watch Video Solution

6. AHB ISTBFHa A T 9B ST LT 4 T

o Watch Video Solution



https://dl.doubtnut.com/l/_HghnHvhHTCYQ
https://dl.doubtnut.com/l/_lLTRjWZx1GoV

7. 93516 BQEST HEAR ST TF HE = 5 OIfF, RH =
68 O, /EHR =90°, /HEA = 120° 8

/HRA = 70° |

o Watch Video Solution

8. 9B IsiBHa Aftd! TI9 9HT I8d T 5 AT

° Watch Video Solution



https://dl.doubtnut.com/l/_RsTArDoDiuWn
https://dl.doubtnut.com/l/_aKriVh5nYKM2

9. ¥7 I oI @l - a6 A SEsfdd

B0 PAACS G S OYT ngdId (Tl |

° Watch Video Solution

10. T I A9 It - aFfe RS IsiGra

PO FIAEF [ 0T nIBIT (T |

o Watch Video Solution



https://dl.doubtnut.com/l/_EDTUqXHivEcT
https://dl.doubtnut.com/l/_KYNyUn28OenB

1. ¥ A 09 It - 936 fAfS wWigeGFa

B0 PAACS G S OYT ngdId (Tl |

° Watch Video Solution

12. I I 17 I@I - 936 90K 3fo Blefd

(ElT AT AP T AP0 AT fRAT (T |

o Watch Video Solution



https://dl.doubtnut.com/l/_VkjvfSyweRFp
https://dl.doubtnut.com/l/_7PMwmo4gwEGY

13. 936 I97 Al TI9 9HT ded g 5 oI

OB @I 45°

° Watch Video Solution

14. 9316 BYEST ABCD WId! T AB = 5.2 (1Y,
BC = 6 O1fd, CD = 4.4 (I, AD = 7 CIfF 992 AC =

10 O |

° Watch Video Solution



https://dl.doubtnut.com/l/_iES3WxO5kGN7
https://dl.doubtnut.com/l/_9N780XqJPv5R

15. B(6 MIATBIF JUMP &T@ST T JU = 5.2 OIfY,

UM = 4.8 OIf¥ 932 M = 7 (IfT |

° Watch Video Solution

16. 9316 I3 PQRS WP TIT PQ = 5.4 O 932
PR = 8 O1fY |

o Watch Video Solution



https://dl.doubtnut.com/l/_urqvARdgnRu1
https://dl.doubtnut.com/l/_ecNCVGMZs1zM

17. 935 5Q&ST PQRS WId! T PQ = 7 GIfd, QR
= 65 (fd, RS = 52 (ifd, SP = 4.4 I,

/PQR = 60°

o Watch Video Solution

18. 956 IF3T BEST WId! I BS = 6.8 G 942

ET =5.8 (I |

° Watch Video Solution



https://dl.doubtnut.com/l/_2lEzDzJFqlFi
https://dl.doubtnut.com/l/_Od3fKhnk2L7I

19. 931G I5(GHa DEAR &I AT DE = 5.2 O |

o Watch Video Solution

20. 956 WITeEHa READ Hitdh! Tid RE = 6 GIfd

8 EA=5 (I |

° Watch Video Solution

21. 936 UGS PORS WIfHI TIF PQ = 5.6 (IfY,

OR = 4.5 o1,


https://dl.doubtnut.com/l/_4JxQxQghrXgB
https://dl.doubtnut.com/l/_TMob9kxuUM7x
https://dl.doubtnut.com/l/_MUbUsZMjcNPa

/QPS = 80°, /PQR = 75°, /QRS = 100°

o Watch Video Solution

22. 9B THTFIB LAND AT TG LA = 6.6 (AT,

AN =54 OIfS§ 8 /ZLAN = 45°

° Watch Video Solution

23. 956 997 HOME |t T4 ZHOM = 60°

Q32 HO =6 OIfF

o Watch Video Solution



https://dl.doubtnut.com/l/_MUbUsZMjcNPa
https://dl.doubtnut.com/l/_v68BwRvrvjku
https://dl.doubtnut.com/l/_IabmoZ1fD6NX

24. 956 I¥T ROAD &I TI9 RA = 8 OIf¥ 8 OD

=6 (I |

° Watch Video Solution

25. 956 IEFHa TRAM HATHT AT TA = 6 GIf |

° Watch Video Solution



https://dl.doubtnut.com/l/_IabmoZ1fD6NX
https://dl.doubtnut.com/l/_wtOw7iMPLhyJ
https://dl.doubtnut.com/l/_95DLEUr1W7dt

26. 956 WITOEHa ABCD WItd! TIF AC = 7 OIf

AR L/BAC = 60°

o Watch Video Solution



https://dl.doubtnut.com/l/_VhcIjGfdoNnr

